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Instructions to Calculate Your Mileage Adjustment: 
1. Check your vehicle's current mileage. 
2. Based on the current month, multiply the number of months since September 2015 by 1,042.  

(EX: If the current month is October 2016, multiply 13 months x 1,042 = 13,546)  
3. Subtract the number from (2) from your current mileage to get your Adjusted Mileage . 
4. Find your Adjusted Mileage in the chart below, and locate the corresponding adjustment amount for your vehicle's model year. 
5. Add or subtract the adjustment dollar amount to your Buyback or Modification amount from Attachment 1A. 
6. If the modification amount from (5) is less than $5,100, see Further Adjustment at the end of this table. (This also applies to Buyback).  

Otherwise, the result from (5) is your Mileage‐Adjusted Buyback or Modification Amount.  

Adjustment Amount 
Model Year 2010 Model Year 2011 Model Year 2012 Model Year 2013 Model Year 2014 Model Year 2015 

Adjusted Mileage 
Buyback 

Adjustment 
Mod. 

Adjustment 
Buyback 

Adjustment 
Mod. 

Adjustment 
Buyback 

Adjustment 
Mod. 

Adjustment 
Buyback 

Adjustment 
Mod. 

Adjustment 
Buyback 

Adjustment 
Mod. 

Adjustment 
Buyback 

Adjustment 
Mod. 

Adjustment 

0 ‐ 5,000 $5,040 $840 $4,410 $735 $3,630 $605 $2,790 $465 $1,860 $310 $870 $145 
5,001 ‐ 10,000 $4,560 $760 $3,930 $655 $3,180 $530 $2,340 $390 $1,470 $245 $510 $85 
10,001 ‐ 15,000 $4,110 $685 $3,480 $580 $2,760 $460 $1,950 $325 $1,080 $180 $0 $0 
15,001 ‐ 20,000 $3,660 $610 $3,060 $510 $2,340 $390 $1,560 $260 $720 $120 ‐$180 ‐$30 
20,001 ‐ 25,000 $3,270 $545 $2,640 $440 $1,950 $325 $1,170 $195 $390 $65 ‐$510 ‐$85 
25,001 ‐ 30,000 $2,880 $480 $2,280 $380 $1,560 $260 $810 $135 $0 $0 ‐$810 ‐$135 
30,001 ‐ 35,000 $2,490 $415 $1,920 $320 $1,230 $205 $480 $80 ‐$270 ‐$45 ‐$1,140 ‐$190 
35,001 ‐ 40,000 $2,160 $360 $1,560 $260 $900 $150 $180 $30 ‐$570 ‐$95 ‐$1,440 ‐$240 
40,001 ‐ 45,000 $1,830 $305 $1,230 $205 $570 $95 $0 $0 ‐$900 ‐$150 ‐$1,740 ‐$290 
45,001 ‐ 50,000 $1,500 $250 $930 $155 $270 $45 ‐$420 ‐$70 ‐$1,200 ‐$200 ‐$2,040 ‐$340 
50,001 ‐ 55,000 $1,200 $200 $630 $105 $0 $0 ‐$720 ‐$120 ‐$1,470 ‐$245 ‐$2,340 ‐$390 
55,001 ‐ 60,000 $930 $155 $360 $60 ‐$300 ‐$50 ‐$1,020 ‐$170 ‐$1,770 ‐$295 ‐$2,640 ‐$440 
60,001 ‐ 65,000 $660 $110 $0 $0 ‐$570 ‐$95 ‐$1,290 ‐$215 ‐$2,070 ‐$345 ‐$2,910 ‐$485 
65,001 ‐ 70,000 $420 $70 ‐$150 ‐$25 ‐$810 ‐$135 ‐$1,560 ‐$260 ‐$2,340 ‐$390 ‐$3,210 ‐$535 
70,001 ‐ 75,000 $180 $30 ‐$420 ‐$70 ‐$1,080 ‐$180 ‐$1,830 ‐$305 ‐$2,610 ‐$435 ‐$3,480 ‐$580 
75,001 ‐ 80,000 $0 $0 ‐$630 ‐$105 ‐$1,320 ‐$220 ‐$2,070 ‐$345 ‐$2,880 ‐$480 ‐$3,750 ‐$625 
80,001 ‐ 85,000 ‐$270 ‐$45 ‐$870 ‐$145 ‐$1,560 ‐$260 ‐$2,340 ‐$390 ‐$3,150 ‐$525 ‐$4,020 ‐$670 
85,001 ‐ 90,000 ‐$480 ‐$80 ‐$1,110 ‐$185 ‐$1,800 ‐$300 ‐$2,580 ‐$430 ‐$3,390 ‐$565 ‐$4,290 ‐$715 
90,001 ‐ 95,000 ‐$690 ‐$115 ‐$1,320 ‐$220 ‐$2,040 ‐$340 ‐$2,820 ‐$470 ‐$3,660 ‐$610 ‐$4,530 ‐$755 
95,001 ‐ 100,000 ‐$900 ‐$150 ‐$1,530 ‐$255 ‐$2,280 ‐$380 ‐$3,060 ‐$510 ‐$3,900 ‐$650 ‐$4,800 ‐$800 
100,001 ‐ 105,000 ‐$1,080 ‐$180 ‐$1,740 ‐$290 ‐$2,490 ‐$415 ‐$3,300 ‐$550 ‐$4,140 ‐$690 ‐$5,040 ‐$840 
105,001 ‐ 110,000 ‐$1,260 ‐$210 ‐$1,950 ‐$325 ‐$2,700 ‐$450 ‐$3,540 ‐$590 ‐$4,380 ‐$730 ‐$5,
/TT2BDC 
/C2_1 1 Tf
0 Tc 4.134 0 Td
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/TT2 1 Tf
-0.0.380 
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Adjustment Amount  
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